Name: Mixed operations e.g. 81 x 9 + 42 (Skill 81)
Mixed operations (e.g. 81 x 9 + 42)

1) 30x9+80= 11) 23x 5+ 20 =
2) 35x3+29= 12) 94 x 8 + 88 =
3) 67x4+26= 13) 58 x 5+ 25 =
4) 35x7+28= 14) 49X 7+ 74 =
5 92x9+15= 15) 62 x 3+ 52 =
6) 15x3+92= 16) 54 x 1+ 35 =
7) 66X 6+ 78= 17) 87 x 6 + 45 =
8 25x9+12= 18) 12 x 7 + 27 =
9) 64x8+96= 19) 63 x 5+ 38 =
10) 97 x 9+ 76 = 20) 85 x8+43 =

Answers, fold under: Mark your work when you have finished.

1) 350 6) 137 11) 135 16) 89
2) 134 7) 474 12) 840 17) 567
3) 294 8) 237 13) 315 18) 111
4) 273 9) 608 14) 417 19) 353
5) 843 10) 949 15) 238 20) 723
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